
UITWERKINGEN – Deel 2: Spanningen, vervormingen, verplaatsingen 
Hoofdstuk 3, Doorsnedegrootheden  vraagstuk 3.2-1 t/m 3, blz. 122 

laatste wijziging: 07-08-03 

 
Opmerkingen:  Zie §3.1.1 t/m §3.1.3, blz. 65 t/m 72 
 
Antwoorden 3.2-1:  
 
a. 0yS =   

b. 3 324 10  mmzS = ×  
 
Antwoorden 3.2-2:  
 
a. 3 39 10  mmyS = − ×   

b. 3 34,5 10  mmzS = − ×  
 
Antwoorden 3.2-3:  
 
a. 3 337,7 10  mmyS = ×   

b. 3 312,6 10  mmzS = − ×  
 
  
 
 
 
 

 
 
 
Toelichting:  
 

(1) 3800 mmA = ;  C 0y = ;  C 30 mmz =  

(2) 3450 mmA = ;  C 20 mmy = − ;  C 10 mmz = −  

(3) 3400π mmA = ; C 30 mmy = ;  C 10 mmz = −  
 
 


